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Maths Answers

Lesson 1:

Understand percentages

PONTEFRACT
ACADEMIES TRUST

@ o) 15 1% of this bar model shaded? e

55 T N

© oester hos 110 spend
‘ He buys some stickers.

Percentage
Explain your remsoning. ot 359 chan _
s il i ot wws gt ¢ 0% M (T
=
sv
@ compics the sentence for each dogram What percentage of his money did Dexter spend?
B) What percentage of each bar model is shaded?
a 5 N N I [
hundred shaded. .
e3'%
€ ~ho and Brett hove been selling tickets for the school ploy
There are 100 seats available.
+ On Mondoy they sold 34% of the tickets.
. + On Tuesday they sold 42 tickets.
» ere ""II]""’“““ o « By the end of Wednesday, 95% of the tickets had been sold.
hundred shaded. How many tickets did they sell on Wednesday?
T
}
I This i‘l:l % € shode 15% of the hundred sauare red.

Shode 32% of the hundred square blue.

L]

hundred shaded.

s[5 .

What percentage of the hundred square is not shaded

Red Answers.
Varied
Jo. 30%

2a. False, the grid represents 72%.
3o 50 hlocks shaded.

© Fosengers ore boarding a plane g

On Wednesday they sold ickets
The plane has 100 seats.

a) 10% of the seats ore already full.

How many passengers are olready on the plane? © snade 5% of his bar model

SRS [

b) 15% of the seats have nat been booked.

How many seats have been booked? Campare answers with a partner.

€) How mony passengers still need to boord the plane? [:l

Ta. A - 25%, B - 68%, C - 40%
B A - 45%, B - 52%
9a. A - 14 hlocks shaded, B - 35 blocks shaded

RAPs RAPs.
0. B is the odd one out hecouse it represents 40%. A and. C represent 41%. 7o. C is the odd one ouf. because it represents 45%. A, B and D represent 48%.
20. 5%, 10%, 35 parts per 100, 50%, 70 parts out of. 100, 90 parts per 100 8. 27%, 14 parts per 50, 6 parts per 20, 4 parts ouf gf 10, 51%, 11 ports out of. 20

3a Lily is not comect hecause 7 rows. of 10 blocks and 2 individual blocks are shaded o 72% is. %0, Milo i comect because: the. bar model. is split-intr 20 ports. Percentoges are the number of
shaded altogether. parts out. of 100 50712 needs tor he multiplied by, 5 to find the percentage.

Deepen the moment...

56%
65 out of 100
50 out of 100
50%

Mo needs 44
Annie needs 35
Tommy needs 50

Lesson 2
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Fractions to percentages
40 & a2

= 707 700

IS

) What do you notice?

@ o shoe the grid n the given proportions.

/——— '
[+ ] 158 10%, 50 o
é must be 20%
Ju be 2

Explain the mistake that Ron hos made.

B —— @)

[CRORORCRORONORC
oeQoQQo0Q

. %glun - 14% red

.4 .
25 blue the rest yellow

000 @

b) What percentage of the grid is yellow?

00O
00000

SRCRCRONC L]

What fraction of th of counters is red?
a raction of the array of counters is r ° ) Use each digit cord once to make the statements correct.

g

E

b) What fraction of the arroy of counters is yellow?

) What percentage of the array of counters is red?

o

Compare your shaded grids with o partner's.
What is the same and what is different?

d) What percentage of the array of counters is yellow

) What do you natice about the two percentages? @ b) Are there any other solutions?



2 20 3 30
—_— = —_— =
10 100 1o 100

2a. 40 squares shaded = 407

3a, Emily = 70%; Charlie = 10%%; Iara =

40%: Emily reaches the final.
4a. False, % is 40%.
10

RAPs

1a. Archie Is incomrect. 1% is nor

A
100 und — iz 10¢%%.
2a. 407

3a. -5 and 50%: - and 70%:;
10 10

¥
Ty and 0%

Lesson 3

Equivalent FDP

Q) Wt rocion decimoland pecentope of och g i shaded boe?

roction =
s[5

percemoge=[ 1% |

rotion =

rocton =
st ]

Red Answers.
Varied fluency,
la.-}- 0.25, 25%
i
25].?. 10-9
3a. A 45 10%
B.—1-, 50%
c.L 25%
4a. 0.03 is the odd one out because it is
not equivalent to —or 307,

RAPs.

la. No, there will be 75% left which is
equivalent to 0.75 and %

2a. Kim: 50% = 0.5 = —1-. Jane: -
0.7. Lucy: 0.6 = 0% = . Jane ate the
maost.

3a. Meorgan is comect. 80 out of 100

ARis

o Match the equivalent froctions, decimals and percentoges.

o 2 green
5 oreer
. 003red

o 13% blue

+ 03 yellow

) What proportion of the grid is unshaded?
Write your answer a5 a fraction, decimol and percentage.

froction

=70 =

squares are shaded, which iz eguivalent

o 80%, 0.8 or 5.

ot [ ] ern-[57 ]

Gold Answers.

Varied fluency,

%a.38 L gom S L oam
75 °

2 _ogem 2o ogsm

28 " a0

10a. 257 chose vanilla.

1a. Amie = 25%; Robert = 757 David =
407 Robeﬂ leuches the final.

12a. Fuls& -sm

RAPs
7a. Marie is incomrect. She scored 48/75 in
total which equals 447,
8a. 307
$a. Various answers, for example:

F1l F1l
) and 407, S0 and 707,

24 27
™ and 75%, rry and 75%

Deepen the moment...

Dora is correct

because — = —
50 100
© compiete the table
Fraction Decimal Percentage
a 021 21
3
2 012 2%
5 02 207,
L 04 uo 7.
- 0.44 wu .
% 004 %
% 0§ IS/
[
5 0.9 Az

° Amir wos asked to complete the statement using <, > or =

4% O 04
u s gr!nltr \
lhal\ Q

What mistake has Amir made?

and L0*% VI s Wi <oy

Goid Answers.
Varied fluency,
A
7a.5¢. 012, 12%
10a.37-. 0.85, >, 0.8, 80%
Na. A 37.5%
2
B. 100 9%
Cios = 25+ 3%
12a. C is the odd one oul because the
conversion is incorrect. - should be

inu
converted to 75%, not 7.5%.

RAPs

7a. Yes, there will be % left which is
equivalent to 0.85 and 85%. This is
because 4;‘0 = %

8a. Jack: 60% = 0.6 and —3-. Scarlett: 2=
= %. 0.65 and 65%. Isaac: 0.45 = 5%
and % Scarlett and Isaac both scored
the highest.

%a. Adam is comrect. 30 out of 80 squares
are shaded, which is equivalent fo 0.375,

3
37.5% and -

Deepen the moment...
Amir is wrong
because 0.3 is
equivalent to 30%

PONTEFRACT
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@ Motch the decimal cards to the people.

4
My decimal is 5
less than 100%.

My decimal cannot be

( simplfied when it is

&{n‘m as a fraction.

My decimal i greater
é than 60%

@  Use the digit cords to write a decimal greater than % but less
than 40%.

M, decimal s 10%
less lhnn 3

You may not use a card more than once in each number.

EEEEEN
o+ B

How many other answers can you find?
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y ‘Wha drank the most? Show your working.
Order FDP [ @ Wite the fracions, decimals and percentages in ascending order. @) These fractions, decimals and percentages are in descending order

/ 8 H B
ok & w% o R T R RN S Scote drank the most
5 2 oq Tick the fractions, decimals and percentages that could fill the gop. Who drank the least? Show your working.
= : oy d A ey
37 H i ] {
@ vrite <. > or = 1o complete the stotements. AL - Huan drank the least
o) 64% @ 046 @ 08 0% 0.6 &' 046, o
2
Tommy scored 30 on o Maths test
u 7 aa% om0 uw ° s €@ o) use the aigit cords 1o moke the stotement correct.
b) 096 5 e) 67% % 100
1 i Alsha got 78% of the test correct.
. B EEBE OB RERRERE
) , L e g s nannnnnnnn
E 35% = 03 2k
9 3 L Do you agree with Aisha? _No
d) Which part was easiest to order: a), b) or ¢)? . 03 < S < 80%
Explain your onswer.
Why?
;En 8%, ol £0% 7 8% o Tomems déd How many different solutions con you find?
€) orow arrows to estimate the positions of the froctions, decimals and 4/ \or - -
percentages on the number line. N Leisa Vorieun anouer
L]
9
A% & 0% 19% o i reater than 2
o ‘\ oAy &) Which set was most difficult to order: o), b or 97 __ b} Use the digit cords to write o percentoge greater than 2 but less

- ; than 75%.
—L [ Il | I Il I 1l Why? °

1T T —
0% 10% 20% 30% 40% 50% G60% 70% BO% 0% 100%

Huan, Nijoh and Scott each started with o 1-litre bottle of juice

EIEGEIEEE]

\in Qnluatrs
Huan drank 0.55 litres. . ‘ 075
<o
W2 es e 02
. 1 1) Compare answers with a partner Nijuh drank 59% of her juice. How many different percentages can you find?
° 5 s
4 1 : o What is the same and what is different?
! Il Il Il |
f T T T T 1 Scott has - of his juice left Varouo gnpues
i H N i i | 15 Of his jui O0UO Qg e
5 5 5 5

Compare answers with a partner.

Varied fluency, Varied
la. week 4, week 2, week 3, week 1:

fa. week 3, week 2 week 4, week 1;
A 0.55 45%, 75%

TR 45.2%, 0.45, ? 0.25
2a.A < B > T0a. A. < B. >
3a. 0% 1a. 70.5%
da, 457 < 0.5 (+ 12a. Vuri::l: answers, for example:
T2¥% > g < 42.2%
RAPs.
" 3 RAPs
1a. No. The corect order iz Eﬁ'ﬁ_ﬁ_ 0.45 and .
%. Thiz iz because % is equal te 30% and 7a. Har percentage must be 37.4% because =5

1

B iz egual ko 0.375 and 3747 would be egual be
0.3, and - iz equal fo 50% and 0.5.

0.374, which iz the only percentoge fo 1
decimal place that iz ohll larger than 0,373,
207 and 0.1, 0.2 and 10%, 25% and 0.05. Bo. Various answers, for example:

3a. No. Jack will have the mest because % 0.8 and 75%. 0.85 and 4%, 7% and 0.7

2a. Various answers, for exam ple:

it egqual fo 507, which iz mere than 457, #o. Various answers. for axample:

Both Suronne and Jim will have vsed the
same number of theeh becavie 37.5% of B0
i equal bo 30 shests of poper. Thiz can be
worked out by dividing 30 by 80. Svzanne haz
mumad that pereentage: direcly relate ta
the number of sheeks vsed, o if it was ouf of
10:0.

Deepen the moment...

| She saved the
most money in
Plarch

Estimates

Orver £10in
January because %
is more than half
Under E10
February because
she only had £10
o start with and
0.4 is less than
half

Mearly £20 in
March because
45% is close 10 &
half,



Guidance: Children will have 30 minutes for this test. Long division and long multiplication
questions are worth 2 marks each. Children will be awarded 2 marks for a correct answer.

They may get 1 mark for showing a formal method. All other questions are worth 1 mark each.

question answer marks
22 1420 1
23 13.85 1
24 2444 2
25 4m 1
26 315 2
27 = 1
28 52 972 2
29 26 1
30 3 1
3 12 1
32 al 1
33 52 2
34 z 1
35 I 1
36 63 1

Total 40

question answer marks
1 o4
2 1236
3 155
4 62
5 56
6 7067
7 2522
8 317
9 109
10 2ot
n 561
17 50
13 90
14 131
15 780.1
1 5777
7 900
18 Plordor Woor 14
19 2943
20 4200
2 50 505

PONTEFRACT




English Answers
Lesson 1:

1.
. mentions coffee and sticky buns

O ~NDUTAWN

internet café

his sister was about to have twins

. red

he looked like a raspberry ripple

. vanilla- seagull poo

There were more emojis for a

. A young child as her fishing rod is simple

cinema- he has student card for cheap tickets

.! PONTEFRACT oy

straw

10. No, he thinks it | an excuse
Lesson 2:
L. L wheat J 2. ‘ Tommy ‘ 3. ‘
Word Definition

bunkered ></ dithered
hesitated — hidden
hollering ] ragged
tattered /><\ yelling

Lesson 3: Upload your descriptions to Dojo.



32 Windsor Gardens
Notting Hill

London

W11 1ME

United Kingdom'

15t August, 20157

Dearest Great-Aunt Lucy?,

I'm writing to you from my own bedroom in my new home, here in London. I've been
adopted by a marvellous family who are called The Browns (whose generosity to bears
seems limitless) and I want to tell you all about them and my adventures.

Since you moved® into the Home for Retired Bears in Lima so many weeks ago, my® life
has been extroordinary! Having stowed away aboard a lifeboat on a gigantic container
ship, I* finally made it to England - just as you said I should®. Although it was an
extremely long journey, luckily I had just encugh of your delicious marmalade® to
keep me* going. On arrival in the port, I climbed on a troin and ended up at a huge,
bustling roilway station where I thought I might find some friends. Unfortunately, I
was there for hours before someone spoke to me even though I raised my® hat and said,
“Good morning,” most politely every time anyone passed. In oddition, I made sure the
label you wrote® — the one with "please look after this bear’- could be seen but everyone
ignored me.

Thankfully, just as I* was about to give up hope, an especially kind couple — The Browns
— saw me and decided that they would take me home and look after me. Can you believe
that?" Since no one can pronounce my name in Peruvian beor loanguoge, they even
gave me* a new name. I am now called Paddington! Mr Brown explained that is a very
distinguished name for a bear.

When we® flagged down a taxi, the driver said I couldn't get in because I was a bear; I
gave him one of my special hard stares and he soon changed his tune — ha ha!” At the
Browns' home, I* was introduced to Mrs Bird (who is their housekeeper: she looks after
them all) and their two children — Judy and Jonathan. My® room is located in the attic;
it has an incredible view of the city. ]
Mrs Brown insisted that I needed a coat to keep me warm so she's bought me a beautiful
blue duffle coat with a red lining. I'm enclosing a picture of myself* in it, looking very
smart. As you can see, it goes a treat” with Great-Uncle's hat. Oh, talking of which’,
I've discovered a brilliant way for any bear to ensure that he's always full of energy:
Mrs Bird makes me* o marmalade sandwich each morning, which I keep in my® hat for
emergencies! —

Even though I"ve only been here a couple of weeks, I've made lots of friends already.

The best is Mr Gruber — he's an antique dealer — in Portobello Road. Whenever we® visit
his shop, he's always got fascinating artefacts to show us®. On the other hand, there are
less-friendly neighbours around. Mr Curry (the grumpiest man alive”) lives a few doors
away and he's ALWAYS complaining about something or other. Do you know what he
said to Mr Brown last week? 'Bears make the street look scruffy: you'll reduce our® house

prices.” What a cheek!”

.! PONTEFRACT oy
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Anyway, Mrs Brown has just shouted up that we’re* off for a trip to the Natural History
Museum so I've got to get going now’. So exciting: apparently there's a blue whale
skeleton there... Write soon® and let me® know how you are. What are your friends at

'sender’s address

*date the Home for Retired Bears like?
*appropriate Lots of love and marmalade,™
greeting

Paddington”

“introduction
p-s. even though it's pretty yummy’, Mrs Bird’s marmalade isn't a patch on yours!®

“paragraphs
around a theme

“first person

’chatty, informal
style

addresses the
recipient directly

“complimentary
close

"finishes with the
sender’s name or
signature

Lesson 5:

Letter1
Areas of S

. The use of rhetorical questions: " That's normal, right?”
. The use of parenthesis: " There were lots of other children (who were crying or shouting) on the train.”
. The use of fronted adverbials: "At first,” “At the minute,”

Areas of Development
. To use a wider variety, of sentence types.

. To use expanded noun phruses to describe the five senses.
. To use a wider variety of relative clauses to add information.

. Uses an appropriate greeting and sign off “Dear Mummy and Daay’ and “We all send, our love’

. The use of parenthesis: "That was made by my new knife (it is a very old one really as you may see by the
rust).”

. Includes the sender’s address in the top right hand, corner

AW@DMM

. To use themed paragroph
. To use expanded noun phruses to- describe the five senses.
. To use fronted adverbials
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Reading for Productivity: Lesson 1 — Geography Answers

1. When was the Fairtrade Foundation established in the United Kingdom?
The Fairtrade Foundation was established in 1992.

2. What are the main aims of Fairtrade? Give two.
The main aims of Fairtrade are to give small scale farmers a better deal and to offer
rural families a stable income.

3. Explain what a Fairtrade deal is.
A Fairtrade deal is one where 50% of the organisation is owned by farmers and
workers, giving an equal voice in decision making.

4. Fairtrade Premium is an additional sum of money given to a farmer. What is its purpose?
The Fairtrade Premium is meant to develop the farming community, protecting the
environment where people live and work.

5. Why do you think it is important to protect the environment that the farmers and workers
live in?
It's important to protect the environment because this would protect the farmers’
income, their crop and their way of life.

6. Do you think it is important to buy Fairtrade products? Explain.
Various answers possible. May include themes such as supporting people who are less
well off or giving a fair price.

7. Look at the numbers of certified Fairtrade farmers around the world. Are farmers keen to
join the Fairtrade system? Why?
Answers may include ideas that explain the large numbers involved. If there are lots of
certified farmers, Fairtrade must make a big difference to them.

8. Which of these is not a reason to become a Fairtrade School?
Extra pocket money is not a reason to become a Fairtrade School.

9. Every day in the UK, we drink more than 8 million Fairtrade drinks. What does this tell
you about people's opinion of Fairtrade?
The fact tells you that lots of people want to support Fairtrade.
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Reading for Productivity: Lesson 2 — DT Answers

Where does the word cake come from? Old norse (Viking) word kaka
The ancient Greeks word wus derived from a word meaning what? Flat
What is a satwra? A flat heavy cake

Who were the first cultwre to show ‘true baking skill?’ Ancient Eygpt

Match the cake to the civilisation
Ancient Egypt Fruitcakes
The Romans >< Bread sweetened with honey

The Greeks Cheesecake

How much flour wus used in an immense cake mentioned by Chaucer?
13kg
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Reading for Productivity: Lesson 3 — Spanish Answers

Q1) How many registered pets were there in Spain last year? 13 million
Q2) How many people over the age of 65 live alone in Spain? Two million
Q3) Which word in the first paragraph means the same as ‘increased ? rocketed

Q%) According to the Afinity Foundation, how many abandoned dogs and cats were
there in 20187 138,000

Q5) Explain why people who live alone are more likely to get a pet. A pet can give

Q6) The Local reported recently that in the region gf Asturias alone; the number gf
households that now include a dog have outpaced those that include hwumans under
the age gf 18." - What do you think the word outpaced means? overtaken, heaten

Q7) According to the text, what does every dog and cat have to have to be legal? o
 rochi

Q8) Look at the final paragraph ‘Abandoned pets’. What is the main message in this
paragraph?
a) There are more pets in Spain than under 15s.
b) In Spain, people are giving their pets good homes.
c) People in England, Belgium and Holland look after their pets hetter than
people in Spain.

Q9) A study carried out some years ago found that in some situations, people are
more willing to help a needy doyg than a child and, feel more empathy in general
towards the animal than a grown-up human.’

How does this statement make you feel as a child under the age of 15? Various
answers,

Q10) Look at the paragraph beginning ‘What is notable...”. What is the link hebween
the growing number of pets and the birth rate? The rate of growing pets is
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Reading for Productivity: Lesson 4 — Science Answers

1. Why is Sir Isaac Newton considered to he one af the most important
scientists in history? Explain your answer and provide evidence to
support it.

He developed the laws af motion (which became the hasis of
physics), @ new type of mathematics and hreakthroughs in optics.
He wus considered the smartest person that ever lived by Einstein
He became warden of the Royal Mint.

2. Why did Isaac's mother want him to leave school?
So he could help on the farm

3. Isaac is described as bheing an adequate student. Define the word,
adeguate.
Satisfactory / reasonahble / not excelling

4. Why is he referred to as Sir Isaac Newton?
He wus given a knighthood by Queen Anne

5. What is Sir Isaac Newtonv's theory of gravity also known as?
Newton's law of universal gravitation
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Reading for Productivity: Lesson 5 — Computing Answers

1. Find and copy a phrase that tells us computers are an integral part of life.
we can barely imagine the world without computers

2. Name two technological developments which didn't exist in the 1950s.
Accept any two of the following: laptops, smartphones, tablets, games conzoles.

3. Why is Charles Babbage sometimes known as the Father of Computing?
Charles Babbage iz sometimes known as the father of computing because he designed
the first machine (the Analytical Enginc), which could be programmed using an

algorithm.

4. Tick the correct box related to each statement in the table:

True |False

School children in Japan use an abacus called a soroban. X

Charles Babbage designed the Bombe.

An algorithm is a type of computer.
Bletchley Park was the home of Second World War codebreakers. X

Microsoft was founded by Steve Jobs. x

5. Why was the codebreaking work done at Bletchley Park so important in the Second World
War?
The codebreaking work down at Bletchley Park was so important in the Second World
War because experts believe that the intelligence gained through codebreaking helped
to shorten the war by as much as two years.

6. When did the public first learn about the work done at Bletchley Park during the Second
World War? Tick one.
In the 1970z

7. What are the advantages of universally compatible hardware and software?

Open question

8. Which of these were created in the 1970s? Tick one.
Microsoft, Space Invaders and Apple

9. Why is the development of affordable programming hardware and software important?
Open question

10. Name three things we use computers for today.
Accept any two of the following: emailing, reading, gaming, texting, accessing the
World Wide Web, programming.






